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Uy 8.1 KP 8.3 KP 190 m 190 m
rywm 8.4 KP 8.7 KP 337 m 337 m
EYUfE 9.4 KP 9.6 KP 205 m 205 m
EFUE 9.8 KP 10.4 KP 505 m 595 m
tU$E 10.6 KP 11.1 KP 635 m 635 m
TUH 8.2 KP 8.4 KP 240 m 240 m
9.8 KP 9.9 KP 286 m 28 m

10 KP 10 KP 10 m 10
TUH 8.4 KP 8.5 KP 86.9 m 86.9m
8.6 KP 8.7 KP 33.9 m 33.9m
8.8 KP 9.0 KP 183.1 m| 183.1m
9.8 KP 10.0 KP 122.5 m| 122.5m
10. 1 KP 10. 3 KP 251.3 m| 251.3m
10.6 KP 10.7 KP 162.1 m| 162.1m
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TU§E 8.6 KP 8.7 KP 33.9 m 33.9m
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o, somn
A R (H=1. 5m) 1,962 m
Ly 8.1 KP ~ 8.3 KP 190 m 190 m
U 8.4 KP ~ 8.7 KP 337 m 337 m
EU#E 9.4 KP ~ 0.6 KP 200 m 205 m
LU 9.8 KP ~ 10.4 KP 595 m 595 m
LU#H 10.6 KP ~ 11.1 KP 635 m 635 m
ARIELER (H=1. 5m) 278 m
TYU#HK 8.2 KPP ~ 8.4 KP 240 m 240 m
9.8 KPP ~ 9.9 KP 28 m 28 m

10 KPP ~ 10 KP 10 m 10
TY#HK 8.4 KP ~ 8.5 KP 86.9 m| 86.9m
8.6 KP ~ 8.7 KP 33.9 ml 33.9m
8.8 KP ~ 0.0 KP 183.1 m| 183.1m
9.8 KP ~ 10.0 KP 122.5 m| 122.5m
10.1  KP ~ 10.3 KP 251.3 m| 251.3m
10.6 KP ~ 10.7 KP 162.1 m| 162.1m
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SRR gns Ly | ma® cEm) o 6md/i00n 840m 100m = 5.4 5 m3
FKEMER (Bm) 0. 4[8]/100m 840m 100m = 3.4 4 [
BRI R S -
(BUELHZ) A1397 144kg/100m 840m 100m -+ 1,000kg
= 1.2 1.2t
%4 B _
(x5597°) 0. 04[@]/100m 840m 100m = 0.3 1=
BURLEL st _
(ZAE + BHET O9h) NHE (BfH) 0. 64m3,/100m 2, 240m 100m = 14.3 14 m3
REMEW (B/H) 0. 4[=/100m 2, 240m 100m = 9 9 [A]
AR =y -
(BUELHZ) A1397 96kg/100m 2, 240m 100m 1, 000kg
= 2.2 2.2t
RLEME 0. 02[81/100m 2. 240m 100m = 0.4 | @

(29397°)
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A o0 100 m
YHE= 3.6kg/m x 2.0m x 50.0&/100m = 360kg 360 kg
T OHEE 100m X 0. 5{&/m x 25kg/@ = 1, 250kg 1,250 kg
B 1,610 kg
1,610kg =+ 1, 000kg = 1.61t 1.61t
I1-2-3-1 F 4 M E R 1.61t = 4t/[E] = 0. 4@ 0.40 [m]
nnE (55) 1.61t =+ 2.5t/m3 = 0. 64m3 0.64 m3
BRI kiR | 25kg/160m U

BURLAFE R)797 0. 16kg/m x 9K X 100m = 144kg 144.0 kg
1-2-3-1 F A MIERK 144kg = 1,000kg = 4t/ = 0. 04[g] 0.04 =
BURLEL 29797 0. 16kg/m x 6 x 100m = 96kg 96.0 kg
I1-2-3-1 A B 96kg = 1,000kg = 4t/ = 0.02[g] 0.02 =1
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MREER
ARIELER (H=1. 5m) 1,962 m
Lty 8.1 KP ~ 8.3 KP 190 m 190 m
YR 8.4 KP ~ 8.7 KP 337 m 337 m
tyigE 9.4 KP ~ 9.6 KP 205 m 205 m
LY#HE 9.8 KP ~ 10.4 KP 595 m 595 m
tY#H 10.6 KP ~ 11.1 KP 635 m 635m
A RIEXER (H=1. 5m) 278 m
TYU#HKE 8.2 KP ~ 8.4 KP 240 m 240 m
9.8 KPP ~ 9.9 KP 28 m 28m
10 KPP ~ 10 KP 10 m 10
TUH 8.4 KP ~ 8.5 KP 86.9 m| 86.9m
8.6 KP ~ 8.7 KP 33.9 ml 33.9m
8.8 KP ~ 9.0 KP 183.1 m[ 183.1m
9.8 KP ~ 10.0 KP 122.5 m| 122.5m
10.1  KP ~ 10.3 KP 251.3 m| 251.3m
10.6  KP ~ 10.7 KP 162.1 m| 162.1m
REEE SRERE 3, 080m x 1.0 m = 3,080 m2| 3,080 m2
<BE> 45> (0. 84kg/m2) 3, 080m2 x  0.84kg/m2 = 2,587 kg| 2,600 kg
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